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INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point per in the space above and on both sides of the Answer Sheuvt]

1. Within 30 minutes of the issue of the Question Bookiet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that no page/question is missing. In case of laulty
Question Booklet bring it to the notice of the Superimtendent/[nvigilators immediately to obtain a
fresh Question Booklel.

2. Do net bring any lossc paper, written or blank, inside the Examination Hall except the Admit Card
without ifs envelope.

3. A scparate Answer Sheet is given. &t should not be folded or mutilated, A second Answer Sheet shaff
not be provided. Only the Answer Sheet wifl be evaluated.

Write your Roll Number artd Serial Number of the Answer Shee! by pen in the space provided above,

On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Alse, wherever applicable, write the
Question Eooklet Number and the Set Number in appropriate places.

6. Ne overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. [if any} on
OMR sheet and alse Roll No. and OMR Sheet Na. on the Question Booklet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Each question in this Booklet is followed by four alternative answers. For each guestion, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the corresponding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken anly one circie on the Answer Sheet, I you darken more than une girele
or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in ink caanat be changed. If vou de not twish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

12. Deposit only the OMRE Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

14, ifa candidate attempts tc use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.
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Time/8Wq : 2 Hours /402 Full Marks /quils : 300

Note /i : (1) Attcmptasmﬁn}rqucsﬁonﬁasyuum.Eachml:iancan*iessmarka.

(17)

{2}

(3}

One mark will be deducted for each incorrect answer, Zero mark will be
awarded for each unattempted question.

SRRl W TR WO w8 9% W 3| TE

Em%mwwmmlmﬁaﬂammmm
\ _

H more than one alternative answers seem to be approximate to the

correct answer, choose the closest one. :

gﬁawﬁmaﬁmmﬂﬁmﬁﬁﬁmﬂﬁaﬁﬁmmm

L B S

This paper comprises of Five Sections. Sections [ and II are compulsory
whereas onrly one Section out of I, IV and V is to be Atternpted.

oy vl o w ) @ 1w 1 e §
T s W 4 o @ ard & qufs oz 11, v 5

P.T.0)



17U/ 102/25 Set No. 1

1,

(17)

Section—I

Tie—I
MENTAL AGILITY
(Compulsory for ali}

Term ‘Grey Revolution' is concerned with

{1) milk production (2) wool production

(3) fish production : (4) horticultural crops

sz uft e’ P A R grafRa 27

{1) g% 3Ted (2) F9 Jamed (3} A FUTH (4) ®F I

A certain nummber of halls can be divided equally among 2, 3, 4, 5,6 and 7
plavers. What will be the least such number?

@wﬁéﬂﬁ2,3,4,5,&*&;&?%ﬁﬂ%ﬁﬁw--wﬁmm%mﬁ
A Fraae g w= Ei?

(1} 400 (2) 840 (3) 420 4] 12

In which of the fallowing sectors, the maximum quantity of water is consumed
n India?

(1) Domestic work | (2) Agriculture
{3} tndustry (4) Hydroelectric projects
gea & B 4 & R g7 F ol W W s wen d W @ R
1) e, @ 2) i
3) s # (4) el sRaret |

2
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4. 125% can also be written as

7

125% % Rer & & 5w wem Wt foren s woar 27
(1 12500 (2) 12:50 (3) 1:250 (4) 0-125

If CHAIR is coded as XSZRI and ABOVE is coded as ZYLEV, how EVERY will be
written in above code?

I CHAIR 5 frm ST @ XSZRI o ABovE. 558 wiar 8 ZVLEV @, @
M #e 7 = ¥ EVERY fee we @ R R

(1) WEVIB (2) VEVIB (3) VEBIB (4) VFVIB

In certain code .la.nguage *hot filtered coffee’ is written as ‘123*, ‘very hot day’is
written as ‘356" and day and night’ is written as ‘989’, how will ‘ very* be written
1n that code?

a2 fardt 7= wrr d ‘trot filtered coffee’ 3T 123 ST 2, ‘very hot day’
# 356" forar W ¥ #91 ‘day and night’ ¥ 5897 , &t 36 %2 W
3 i # s Sow.snime

3 ‘very’

(1} 3 (2] 6 @) s (4) 1

A person starts walking i the North divection and travels S km then he turns
to his left and walks 10 km and then he turns to his et end COVETS @ distance of

§ km. How far is he from his starting point?

e e TR g L

@mwwm%wgﬁfﬁﬁ?ﬁfﬁﬁhnmaﬁ[i,aaagm;ﬁ
mﬁmw-imammhﬁ,g"raﬂwgﬂ,‘ﬁ:{azmmﬁ'ammg

3 5 km =@ A 5% 9% ot yeome A e Tk g
(1) 5 km {2) 20 km_ Q10 km (4} 15

PTo)
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10.

11.

12,

(17)

In a row of 40 students Mahesh is twentyeighth from left and Suresh is
twentyfifth from right. If Dinesh is sitting just exactly in betwen them, what will
be the position of Dinesh from left?

40 BE B AR B I 76 & Ry F R 288 mw wm e g f &
T A6} 254w w A 9 Ry 6 Tl w A & foegw e d R, & v
I T A FE K Ty e wi gule

(1) 24 (2) 22 (3) 28 4) 23

A is mother of B. C is son of A, D is brother of E. E is daughter of B. Who is
grandmother of £ 7

g,aﬁﬁ%:c,am&aﬁlu,ﬂﬂﬂﬁ?ﬂ E, B #t gt 21 E ¥ TR w1
?

(1} A (2) B 3 c (4) D

Pointing towards a man another man said  he is the son of my father’s sister”,
then what is the relationship between them?

(1) Father-Son {2) Brother (2} Cous=in f4) Uncle-Nephew
wF wedl f1 AN FU W T G el 3 ww Caw W P B e W TR
v fafy d dnl gt # Pe @ v owey 27

) fe-maE @ W B WU (4) T

Which ol the following words will come fourth in the English dictionary?
Frafofen weet & ® d9-w0 yog SISt wegwrw F wen @e

(1} False (2) Follow (3) Faithfully (4) Fallible

In the following questions if the given statement is true, then among the three
conclusions which is correct?

gtatement : F<T, T>E, E<R
Conctusions : (I R>T, (i} R<T, () F<E

(1) Only () is true (2) Only either {Iy or {il) is true

3) Only either (I} OF W4 =7 VALY (1) 35 true



17U/102/25 Set No. 1

Fer & ofg Ren w0 oo ot 8, o wftfs Pesd & w7 ool 47
969 : F<T, T>E, E<R
Pregd . () R>T, ) R<T, () F<E
(1) T {I) B& ¢ (2) Faw W () T (1) T R
(3) Faw @ @ () T () w2 (4) F= (1) 3@ R
13. Which of the following words will come second in the English dictionary?
ﬁwﬁﬁamﬁﬁiﬁﬂh4nwaaﬁﬁaﬁﬁmir@n@m?
(1) Magical (2) Magnify (8) Maternal ~ (4) Magnetic

14. There are a sequence of four figures following some pattern‘as given below ;

S AR far TR, ¢ et Rehww F RY R X .

JaC

What will be the fifth figure in that sequence out of I'.he' following?

IE FHH 54w W P A R

Al®O)®

i m)

(1 @ 2) (m By —- @y

(17)
P.T.0)
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15.

16.

17.

18‘

19,

(17)

In which of the following animals has teeth in its only one jaw?
(1) Eiephant {2} Cow (3) Donkey (4) Rat

ﬁmﬂ%ﬁmmé&%ﬁﬂtﬁamﬁaﬁmﬂm%? :
(1) =reht ' (2) T (3) e (4) <@

Which of the following crops is also a source of edible oil?

(1) Pea;rl millet  (2) Wheat (3) Maize (4) Pea
e 3 e wgw @ @ daa w31 fen o 27
(1) =<0 {2) ¢ (3) W& [4) T

‘acE’ is related to ‘hdF in the same way as ‘ fhJ’ is related to which one of the
following?

‘ack’. ‘hdF* & I Tr Tefte 2 98 <y P @
(1) dpH (2) fhL (3) ghK (4) giK

Income of A is 25% more than the income of B. Income of B in terms of income
of A is

AW @i o amEE 25% s 8| B 1 oTw A % wRag # = O wm e
(1) 75% (2) 80% (3} 90% (4) 100%

1§ the radius of the base of a cylinder is halved, keeping the height same, what
will be the ratio of the volume of the reduced cylinder to that of the original?

Mﬁﬁa%mﬁmm)ﬁmmﬁmm,wmiﬁﬁ
ﬁm:mm,ﬁwﬁﬁﬁﬁﬁ%ﬁ%-m@ﬁﬁm%m
3 fw & T SR AW

1) 1:4 (2) 4:2 3) 2:5 4 1:5
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21.

a7
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Find the missing number in the following series .
Fre Jeen § @l s G w T g
5,9, 17, 33,—, 129

(1) 53 (2) 59 (3) 92 4) 65

In the figure O represents shopkecpers, A shows customers and
represents farmers, how many are all these three?

fier fm i (O gomem, A wlgw @[ | el @ wRfRm war §, W IR

w e T § o wh S €7

(1) 2 (@3 (3 4 UK

The length of a minute hand of a clock is 14 cm, t will be th

by the minute hand # 5n€ Mimste? y “m. Vaal w © area covered
W R AR R w14 om R m B A BB R g
o da a-h? ‘ | o |

S 4
(1} 14 em? (2) 7 om? @ 0w’ @ mé o

P.T0)



17U/102/25 Set No. 1

23.

4.

25,

(17)

If ‘eye’ is called ‘hand’, ‘hand’ is called ‘mouth’, ‘mouth’ is called ‘ear’, ‘ear’ is
called ‘nose’ and ‘nose’ is called ‘tongue’. With which of the following would a
person hear?

(L) Eye (2] Mouth (3) Nose {4) Ear

W e W e wwom, T oW fF oW oW, P ® T ww

;ﬂﬁﬁm'mm&w‘m'ﬁ‘ﬁm’maﬁ.?ﬁ@mﬁnﬁﬂﬁmﬁ
7

(1) st ) 4% (3) T (4) FH

For sowing of which of the following crops, its stem is generally not used?

(1) Potato " - (2) Sugarcane  (3) Onion (4} Ginger
Foa § 2 e wom g8 ¥ fg owee: 3% @ & wm @ 7
(1) g, (2) = (3) = (4) oTHF

On the basis of ‘Shak Sambat Panchang’, the third month of the year is

(1} Chaitra (2) Paush (3} Falgun {4y Jaisth
‘v BT g9 % oEn W @ dign wdi P @ s-ar @7
(1) o (2) (3) W (4) 38

8
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27.

(17)
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Section—I1
avE—11

CHEMISTRY _
(Compulsory for all}

When an ideal gas undergoes unrestrained expansion, no cooling occurs
because the molecules

(1) are above the inversion temperature

(2} exert no attractive fqrcga on each other

(3) do work equal to loss in kinetic energy

(4) collide without loss in gnergy

T w aEd e sia ww o R e R, W s ST A v Wi B
FiG el w1

(1) G A ¥ I g

(2) m—@%wamﬁrm’f'wﬁuwwﬁmt»
(3) 7w S & WY F WK 74 F@ F

@) T & wm & B e ¥

The number of radial nodes in 3s and 2p -:irri;itals respectively are
(1) 2 and O @ Cand 2. Gedwnd2 - @4 2 and |
3s ok 2p gl § Brem et  dew Ty B

()2eko  aoaka g3 ]3ko 4) 2 R 1

9
{P.T0O)
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28.

29,

30.

31.

32.

17

The electronegativity of the foliowing elements increases in the order

%4 § w53 wu Arakifye ot B Rga w2
(1) C,N,S,P (NSi,CP (3 8,PCN PS,NC

Among KO,, AlO;, BaQ, and NO}, unpaired electrons are present in

(1) NO} and BaO, . {2) KO, and AlO}

(3) KO, only {4) BaQ, only

st e 9g 8 &, KO, AlO;, Ba0, ¥R NOj % #19 %
(1) NO} ¥R Ba0, 2) KO, 3 A0;

(3) *aE KO, (4) %aF BaO,

The species having bond order different from that in CO is
co § fm wwn ¥ el & sew w9 o I ¥
(1) NO~ (2} NO* ~ (3] CN~ 4} N,
The compound that is not a Lewis acid is
M, St qE o A R
(1} BE, (2) AlCI, {3} BeCl, 4) 8nCl,
Far the reaction
CO(g)+H,0(g)= COz(g)+Ha(g)
at a given temperature, the equilibrium amount of CO,(g)can be increased by
{1) adding a suitable catalyst

(2) adding an inert gas
(3) decreasing the volume of the container

(4} increasing the amount of CO{ g}
10
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(17)
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ufafen & forg
CO(g)+H;0(g) = COa(g)+Halg)
RN T AW W CO,(g) N Tramwn ) WA T9H I T @
(1) e T F R (2) AR A R
(3) TB ¥ AEE F W (4) CO(g) F wmn = Tw

For an endothermic reaction, the minimum value for the activation energy is

(1} less than enthalpy change (2) zero
{3) more than cnthalpy change {4). equal to the enthalpy change

w St shifEe F R, sfrwa s=i w0 oftmen Am g
(1) i mar & W 2) T
(3) wrim wihan ¥ (4) wrftr enfen & s

Consider a reaction aG + bH - products. When the concentration of both the

reactants G and H is doubled, the rate inireBorswight times. However, when
the concentration of G is doubled keeping the concentration of B fixed, the ratc
doubled. The overall order of the reaction is

AR ® AR W G+ bH » ORI @ ¢ M B [ aPerst f e
Ak B T R, T W I T et [ © wem @ o
G # WA B A T T 2, @ R A T Y e

AE F B
(1 0 ~@ra 32 @ 3

11°
PT.0)



170/102/25 Set No. 1

35.

37.

17

0-004 M Na,S0, is isotonic with 0.-01 M glucose. Degree of dissociation of
Na,S0, is

0-004 M Na,80,, 0-01M W[FA F ™ wWER 3| Na,S0, F Jusmw
)1

(1} 75% (2) 50% . (3) 25% {4) 85%
Nitrogen dioxide cannot be obtained by heating

= 3 2 TRR i wR TR shetearss Al Ren s awa?

(1) KNO, (2} Pb(NO,), (3) Cu(NO,), (4) AgNO,

B(OH), + NaQH = NaBO, + Na[B{OH), |+ H,0. How can this reaction is made to
proceed in forward direction?

{1) addition of cis 1,2 diol {2) addition of borax
(3} addition of truns 1,2 diol (4} addition of Na,HPO,

B(OH); + NaCOH = NaBO, + Na[B(OH), |+ H,0. T sftfwa =t 33 am agrn w1
ic o

(1) cis 1,2 SR Sig W (2) "R Wy W
(3) frans 1,2 SIS T = (4) Na,HPO, §g

The bonds present in N,O, are

(1) only ionic (2) covalent and coordinate.
(3) only covalent (4) covaient and iomic
N,05 i o aeF R &
(1) @ A . (2} W T TR
(3) et AR {4) TR T AR
12
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42'

(17)
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Spin only magnetic moment (in BM) of the compound Hg{Co(SCN), ] is
HgICo(SCN}, | e %t geef yoix (BM ) Rt wm yorn o1 & }7
1 V3 @ V5 @) V24 TR

Native silver metal forms a soluble metal complex with a dilute aquecus
solution of NaCN in the presence of

Rt U § NaCN % vt ol ora & A 3% am vt 9 g
ug AP T S }7

(1) N, 2) O 3 €O, 4} A

When MnO, is fused with KDH a coloured compound is formed, the product
and its cnla'lir aré

(1) K,MnQ,, purple (2) KMnQ,, purple
(3) Mn,0,, black (4) ME,0;, Srows

o MnO, KOH % T ugs ¥m 8, @ ¥ o M = Fufr g 2, g ok
TEE T R

(1) K;MnO,, 9 (2) KMnO,, #rh

(3) Mn,0,, wER (3) Mny0,, [

Among the folliwirig, tve-mest basic compound is

(1} benzylamine (2} aniline (3) acetanilide  (4) p-nitroaniline
Refiiee § 3 91 T8 4R difis 47
(1) dfwmE () et . T3] weepvete @ p-

3

mtO:j
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45.

{17)

2-hexene gives trans-2-hexene on treatment with

frer 4 @ s wa sfifien w0 w 2-Rwanm, ZiE-2-dEET AW R0
(1) Li/NH, {liquid) (2] Pd/BaSO,

(3) LiAlH, (4) Pt/H,

The order of reactivity of the following alkyl halides for a §,, reaction is

Frafofi srewme deegm 1 @ 5, ofubea & R sfifardea & o an
wm?

(1) RF >RCl>RBr>RI (2) RF >RBr >RCL> R

(3] RCI>RBr>RF > RI (4} Rl>RBr > RCi>RF

The heet mathad tn prapsve cyclobhexene from cyclohexanol is by using

BTG | ORAEIGRd 49 0 F TER om0l Alel e% v &d &
g &7

{1} conc. HCl+ ZnCl, (2} conc. H4PO,
(3} HBr (4} cone. HCL

The compound that will not give iodoform test on treatment with alkali and
iodine is
E]] acetone [2] ethanol

(3) diethyl ketone (4} isopropyl alcohol

14
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(17)
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Fedeht 2 e B oongdeld uhew i wilen s @ w-w e @
37

(1) T (2) TaRla

(3) SrEaE A C{4) SRS e

Benzamide on treatment wiﬁ POCL, give;

(1) aniline (2] hcinzunitrﬂc

(3) chlorobenzene (4) benzylamine

Famme & POCL, % 9y AN =3 w aw #

(Y el @ WHRRE  (3) FEeRE (4) Somenw
The compound that is most reactive towards' tlectrophili subatitution is
{1) toluene (2) benzene (3) benzoic acid (4) nitrobenzene

wREE e A it T e st A ¥
(1) T (2) ¥R @) W PR, () TR
In the Canmmu reaction ,
2Ph—CHO —, Ph—CH,OH + PhCO;
The slowest step is
(1) the attack of —@H.a4 the !:Erbgnyl group
[2) the transfer of hydride to thé .car-bonyl group

(3} the abstraction of proton from the Cafbox}'fic-acj d
(4} the deprnmnaﬁaﬂm;gﬂ-

15

(P.T.0,)
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Hemr il §
2Ph—CHO —%— Ph—CH,0H + PhCO;

o fo I R

(1) St 97 & —oH =
{2) TS @ FEMA YT T R
(3) FTloRfS o A Wby &1 garmm
(4) Ph—CH,OH % #miziM

50. Two forms of D-glucopyranose, are called

(1) enantiomers {2) anomers

(3) epimers (4) diasterecisomers

D-RTHITNTa & @ ®7 %2 @ §

(1) et (2) i (3) whed 4) SRR
16

(7
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Sectton—III
- @uEm
BOTANY and ZOOLOGY
 (Botamy)
51. Which ene of the following is a monogenetic parasite?
(I) Taenia solium 2) Ascars
(3] Fasciola hepatica (4) Plasmodium vivax
e # & 95 o Gk g 27
{1} Riar diferm (2) THRE

53.

a

8 Hfsier AR (%) R, T
Which ecological pyramid is always upright?

(1) Pyramid of number

{2) Pyramid of biomass

{3) Pyramid of energy

(4} Both pyramid of number and Encrgy

ﬂ?-mwrﬁfﬁ:mﬁﬁ%ﬁzaéa%ﬁm@m??
(1) wEar = Rbfie Q) SR S
(3) = w1 Pifre (@) 6 W@ I o F Pty

Acid rain is caused by |
(1) CO and 00y 48r-00;-and-Q,. (3) 50, and NOa (@) NO, axd O,
swetiy el s S 2L ‘

(1) co @ co, (80 ™ O: {3 so, W NO,

17 ) MO, w 0,

(P.T.0,
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54,

55.

56.

957,

08.

(17)

Phyllode is modification of

(1) petiole (2) stem (3) petal {4) lamina
fircits e wo=R 27

(1) ol (2) 0 (3) FY (4] Qb
Head or capitulum inﬂ-;urescence is found in .

(1} wheat’ {2) sunflower (3) mustard {4} onion
T o Frgem g fored 9rn o 27

(1) (2) el (3) Wt (4) A

An organism used as a biofertilizer for raising soyabean crop 1s
(1) Azotobacter {2} Azospirillum {3} Rhizobium {4) Nostoc
Al B vaw & R ARe W@ % w0 d W WO g R
(1) TR (2} THeglem (3} URNTAEA (4} FRIH

Which one of the following is not a micronutrent?

{1) Boron (2) Molybdenum (3} Magnesium  {4) Zinc
e 3 4 F-91 O e Tl 37
(1) =ra (2) Hiffeem™ (3} Tl (4) T

Which one of the following insectivorous plants is aiso known as ‘sundew
plant’?

(1) Nepenthes (2) Drosera (3) Utricularia (4] Dionaca

por i @ o w Bt 09 ¥ wEe W W o A€ F W R ww
w87
(1) Fufag () =T Y WML (4) =it f

18
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61,

(17)
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Which group of three micronutrient elements is required for both
photosynthesis and mitochondrial electron transport?

W & e ogeedes o O vhen yEnEwEm o meewiRem e
T ¥ fom smawes 47

(1) Cu, Mn, e (2) Co, Ni, Mo {3) Ca, K, Na (4] Mn, Co, Ca
Prolonged liberal irrigation of agricuiture fields is likely to create the probiem of
(1) acidity (2) aridity 3} salinity (4) metal toxicity

T WA g § g ot fed w0 2 o owe B owen S
w7

(1) v 2 g@ (3) S (4) ' Prerean
Which of the following is a saprophytic angiosperm?

(1} Neottia (2) Eucalyptus (3} Cuscuta (4) Agdricus

R 3 a3 o R A2

(1) Fretfean - (2) FHforeem

(3) T (M- 4) e

Sandal wood. oil of ‘Santalum album’ is afan .

{1) edible oil 2) essential oil  (3) liquid oil {(4) None of these

L R R g G

(1) wrer e A O AW - {33 Y, A (4) R} P
Pungent smell of mustend. il is due to presence of g Suiphur containin
_PTE g

compound

(1 Allyl sulphidctSjmimpsian,.  (3) Parthegin

19
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(17

797 TOYE v ¥ & # W urege 9% 8
(1) wEgE oeergg (2) fa (3) e (4) TR

Companion cell is found associated with sieve tube cell of

{1) pteridophytes (2) gymnosperms (3) angiosperrz  (4) Bryophyta
AR it ai weA Afem Fifve @9 A 9 9 2

(1) e & () Reied & (3) st & (4) sersa B

The osmotic pressure of 0-1 M glucose and 0-1 M sucrose solution are the same
because

(1} both are carbohydrates
(2] these are different compound having different molecular weights
(3) both are present in the same concentration

(4) ghucose is reducing sugar while sucrose is non-reducing sugar
01 M e R ¥ 3R 01 M gF Reen # Wl g g9 § wih
(1) 2t FEERE

(ziﬁm_mwmmmﬁﬁwm-mg
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66. Test cross invoives
(1) erossing the F, hybrid with a double recessive genotype
(2) crossing between two genotypes with dominant trait
(3) crossing between two genotypes with recessive trait
(4) crossing between two F, hybrids
= Wi vy b
(1) F, 9% 2 fifie sl st & la
(2) § Siteru & s wam & A= w0
(3) @ Wterer @ omrh-ewpy & Wy wly
(4) § F, ¥ % 49 #ﬂ

67. Munch’s mass flow hypothesis explain
(1) water flow in xylem |
(2} horizonta} flow of water from cortex to xylem
(3) tmna‘mcauon of solutes thmugh phluem
(4) absurpﬂun uf water by roots |
T9 e veit wfaiine Reer 4w A
(1) e A 9. LSRR ),
(2) 3R TR T W W d Wmew € o
(3) vl (dvares) g Rl S
I  CR L

1 2
ull PTa)
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68.

69.

T0.

TI.

(17)

When stomata open only at night they are called

(1) Photoactive (2) Scotoactive  (3) Nyctinastic  (4) Helioactive
w§ Wi (Fu) 90 4 g 9w §) @ we s 2

(1) PN () WRfEE (@) s () e

According to enzymatic theory to explain stomatal movement, which of the
following enzymes is associated with starch = sugar conversion?

(1) Phosphorylase (2) Aldolase
(3) Amylase (4} Invertase

TR g % sgen Wi (oul) # R e & } R o B gEEd |
wN = Wy fafam gt 27

(1) SERURN (7)) G (3) TR (@) T
Which products of Hill reaction are used in Blackman’s reaction?

fra aifvfer & B Tom = WO soeid ofufrn & e s 27
(1} ATP, NADPH (2] ATP, NADH (3} ADP, NAD (4) ATP, NAD

3PGA is first stable prﬁduct in

(1) carbon-reduction cycle (2) CAM
(3) glycolysis . (4) Krebs' cycle
3pGa yum T I fAAR R
(1) - T (2) CAM
(3] TR (4) *=
22
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72. Spirulina is rich source of

(1) protein (2) fat (3) vitemin (4) mineral
el & Reht aftmmn B 47
O () @ Fafe ) e
73. Saffron is obtained from
{1) Cocos nucifera . (3 Iberis. aman,
" (3) Crocus sativus (4) Costus speciosa
R v B w47

(1) #¥8 T (2) smdke spmr {aimﬂam [4;ameweaeﬁﬁm

74. Which erzyme ig called molecular scissor?

(1] Restriction endonuclease (2) Ligase
o) Prowase ) Zymase
- T g o e 47

(WO VS (g)
(3) I @ .

75. Link between glycolysis and Weahe? aente 1

- (1} citric acid (2) umaric acid’ (3) succinic acid 4 acetyl CoA

RN T s ) wh b
() RBigw a1 o) wpifis Hlsomm-ad  (9) By oo

23
s (F.T.0}
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(Zoology)

#6. Which one of the following sequences is the correct hierarchy of classification?
(1} Kingdom, Domain, Phylum, Order, Class, Family, Genus, Species
(2] Domain, Kingdom, Phylum, Class, Order, Family, Genus, Species
[3) Genus, Species, Kingdom, Phylum, Order, Class, Family
(4) Domain, Phylum, Kingdom, Genus, Species, Family, Order, Class
e & ¥ 2 T e & a8 W e
mmmm-ahmﬁrﬁaﬁwwm
(2) Toa-8%, W, i, g, 7w, TRAR, W, TR
(3) W, Y, e, S, S, af, TREn
(@) TUR-8, S, TR, &, ybR, WRaw, %9, o

7. The first land vertebrales—the amphibians, developed during the

(1) Cambrian period {2) Silurian period
{3} Ordovician period . (4 Devonian pﬂl"i[l—d
mu@&@ﬂ—&ﬂﬂﬁ?ﬁ%ﬁ%mﬁagﬂm?
1) ¥FEE @ (2) TR H
3 AR HE (4) SEITER F
78. Who amongst the following wrote the Essay on the Principle of Population in the
year 1798 ?
(1) Charles Darwin (2} JE&H-BﬂpﬂStE Lamarck

(3) Hugo de Vries (4) Thomas Malthus

24

i Mm



79.

81.

17

€ 1798 ¥ FPrafeiRad 4 ¥ B9 Essoy on the Principle of Population fen 417

() et TR 2) Wr-aiRe o

@) W & sy | (@) div T

Which one of the following refers to a Chotilate bat Hot 1o & Fertebrate?
{1) Labeo {2) Columba {3} Amphioxus {4} Hemidactylus
R § @ PR el 7 A% Chordate ®81 T §7

(1y i (2) Fren (8} wifdem 14 YieEm
Malpighian tubule of insects is

(1) & digestive organ (@) a circulatory organ

(3} a respiratory organ {8) an cxpretony orgeo.

iz ) menr S ©

(1) T 3 (2} shgad-sin @ T 3y {4) Jeg 3
DNA matching has shown thet hymans are chosest 86

(1) Chimparizeet™ Ty Corillas {3) Cibbons
BoGioto W I AR ¢
() et & @) T () Prgm - BT VOIS W
Pacdogenesis refers to

(1} early development of gonad

(2} retention of rudimentary characters in adult form

(3} retention of larval character in sdylt form

.....

. H! _Rhesus monkeys

-

-~

P10}



87.

(17)

WA e R Bt 9 9

(1] 608 + 408 IJugwreaf (2) 508 + 308 gyt

(3} 408 + 305 Inywryet (4) 508 + 408 St
The class of proteins that mark the foreign proteins for elimination are
(1) transporters {2) repressors

(3) hormones (4) immunoglobulins
m%mmmwwmmm.aﬂ

(1) gl {agw) 2) fow ()

(3) it (4} W

Minute to minute regulation of Ca** n adult human is done by
{1} calcitonin | (2} parathormone

[3) vitamin D, - (4) grucagon

mmﬁca'**wmw-ﬁﬁmme.:mﬁ?
(1) ¥R . (@ toml (3) fafm D. (4) TR

The carrying capecity.of.a.population is determined by its

(1) natality - (2} moxtylity

(3) limiting resources {4) growth rate

T & g e Bl R g b

) & JARRE . (3) TYS FA a1 Ay o

{P.T.0,)
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89, Which one of the following statements is correct?
(1) Glycolysis and oxidative phosphotylation take place in the cytoplasm

(2) Glycolysis takes place in the cytoplasm while oxidative phosphorylation
oceurs in the nucleus

(3) Glycolysis takes place in the cytoplasm while oxidative phosphorylation
occurs in the outer mitochondrial membrane

{4} Glycolysis takes place in the cytoplasm while oxidative phosphorylation
occurs in the inner mitochondrial matrix

foifiad uq § @ W w8 BT
il]mmmmwmﬁmmﬁma
mmwwmmmwmﬁ@m%

90. Which one of the following is a terminator codon?
foefirfye ¥ B TowE wEA R

(1) VAG (2) UAC (3) AUG (4} GAU

91. Acid hydrolases are packed in the
(1) mitochondria (2) nucleolus

(3) Endﬂplasmic retim.llum (4} lysosomes

1 28



92.

n
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TIFIERG 9 w0 e R |

(1) wawiam & ‘ (2) iRl &
(3) e Hegewm A (4) e
Vitamin B, deficiency causes

(1] pernicious anemis (2 pellagra

{3) beriberi (4} xerophthalmia
e B, # =t % w0 =0 B 47

(1) R s (2) e

(3) afaf (4) Swenfeiny

Polytene chromosomes are found in
(1) salivary glands of dipteran larvae
(€} occytes of vertebrates

(3] bone marrow of mouse

(4} liver cells of man

IR I T e §
(1} R ol % womfy & 2) ¥l % R iy
3) & & afly war 4) PR -

{1} spermatogenesis _ -mw@aja
(3) spermiogenesis @) meiags
29
(F.T.0,)
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Wﬁmmmmﬁmm%
(1) wEEeRe (2) HdeaRe (3) whEARE  (4) fmitfaa

95. The pyramid of biomass is inverted in

(1) freshwater ecosystem (2} forest ecosystem
(3) grassland ecosystem (4) Tundra

Tt & o 3o I ?

(1) ey o TR ¥ @) F v &
@) TR RERA 3 @) gz

96, Which one of the following interactions will not promote co-evolution?

(1) Mutualism (2) Parasitism

3) Interspecific competition (4) Commensalism
P § @ A qr G w-Re R g Tl 2w
(1] SRNAATIS @ =

(@) Soreifufem R (4) SHARTSH

97. The Watson-Crick DNA atructure is also referred to as
(1) A form (2} B form {3} Z form (4) D form
e SoeAole W F HE M 2

) A s oh ¢2]Bm‘ﬂ 3} Z AR W 4y D s @

30
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1 m‘

(17}
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Which one of the following acts as an electron donor to the electron transport
chain in mitochondria? :

(1) ATP (2) NADH (3) 0, (4) Pyruvate

wdEg # RN I ¥ SRR % v d Boifeg 4 8§ @9 w6
=T R7

(1) ATP (2) NADH (3) Q, (4) e

Estradiol is synthesized mainly by the.
(1} thecal cells (2) granulosa cells
(3) lhateal cells (%) otremal cells

| TR W WO et e @ R w8

(1) T Pfmmnt @ (2) W Wi ¥

(3) Hicw RRwwet A (4) ®me wiRmel &

Bilirubin and biliverdin are derived from

(1) haemoglobin (2) angiotensinogen - -

(3) globulin . {4) actin -

ffeehn w fRfefé w3

(1) ¥ 2 (2) TR

(3) wiglem @ R & B
-4 -

P.T.0)
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Section—IV

GBIV
MATHEMATICS and PHYSICS
(Mathematios)

101. The vahue of
-a® ab a.c'
ba —b? be
‘ ac be -cf

is

—a? ab ac

ba -b% bc| ® "W ?
Iac be —c?

(1} 4abc (2) a?b?c? (3) 4a?b’c? (4) abc

102. If A is a nop-singular matrix of order.3 and | A| = 4, then value of [A7'|is

ﬂﬁﬁﬁwﬁﬂmzﬁaﬂaﬂﬁ(ﬂﬁz)a%wm1=4,€f],¢'1|m
o 2

(1) 41 (2) 16 @) 9 @) 64

103, If A={123} and B =1{x y}, then total number of relations from A to B 18
o A={},23} ™ B={x%yh A AQ B ¥ et f wopl wew @

() 6 (2) 8 B ° (@ 64

am 32
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105.

106.

107,

108.

(17)
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The value of tan 75° + cot 75° is
tan 75 + cot 75° ® 7 R
(1) 4 2) 2. (3) 3 +1 {4) ¥3-1

15

ffsin A+sin B =a and cos A+ cos B =, then the value of tan[A+E) i

AR sin A+ 8in B = W éﬂﬂﬂ+ﬂmﬁ=ﬁ, Ll tan(A;B) N WH

(1) op (2) a+B @ 2 (4} « -p

p

The value of ,f2'+ ﬁf§'+',§'+ﬁmﬂg is
‘!2+1H2+1[2+2ma EoRCIC 3

(1) cos® (2) 1+cos@ (3) l-co-sé o ™ 2¢co88

The least positive integral value of n for which ﬁi:f) 15 resdn

n#% ﬁ:ﬁﬁwmmmm% ﬁ‘m[;{—:]n T W Al gy
1 8 @ 1 3 2 @ 4

If a and b are roots of the equation x? + x+1=0, t'iienﬂthc value of a2 4+ p? g
M o A b WEN T Ty ¥ WAty w 1

(- | 4 -2

33
{P.T.0,)
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109. Three persons enter a railway compartment. If there are 5 seats vacant, in how
many ways can they take these scats?

swﬁ@h%ﬁﬁﬁmmﬁﬁlﬂﬁ%ﬁﬁsﬁ?W%ﬁﬁﬁﬁﬁm
3w i w i g &7

(1) 60 (2) 20 (3) 10 4) 15
110. The sum of the scrics 17 +37 +52 4. to n terms is
Joft 12432452+ % n 00 T ATEA &
- 1
(1) nin+l) @) n(2n-1)(2n+1)
2 3
n(2n+1) A (2n+1)°
(3} —3 (4) 3

111. The value of

sin x —CcosXx

lim‘II -
!-—FE x_E
15
lim @x-{fsx AW 2
x-lrz x..z
(1 0 @21 {3) 2 @) 2
34

(17)
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112. The value of k for which the function

k% e wm &% Riv wom
kcosx if x#i
Fx)={n-2x 2
3 ¥ if X -
is continuous at x =~ ?
x=% W Eag R 7
(1) 2 (2) 4 (3) 6 (4] 8
113. The derivative oftan'l[ m's_'x J 1s |
l+8inx
'1[ "B | w v
) (2) tan x @) - ) -2
sin? x ' B ¥ J 2
114. The derivative of log ﬁm(: ‘;) i
10gtan(%+§}?ﬁ Sramon 4
(1) cot x @) secx (3) fan x o1
tgn(£+£
4 2
(17) 35
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115.

116.

117.

118.

(17

The volume of spherical ballaon is increasing at a constant rate 25 cm’ /sec. The

rate of change of its surface area when its radius is 5 cm is given by

T TR TER F A 25 emjsec B B A wg oW }, A @S W
TP & WGA 1 o W7 § Falh WP JUA™ 5 cm 27

(1) 10 cm?/sec  (2) 5 cm?/sec (3] 8 em®/sec (4 12 cm? fsec

The maximum value of function f (x)=2x% -24x +107 on the interval | -3, 3 |is
T [ (x)=2x° -24x+107 T AV AW Fw [-3,3] F W

(1) 139 (2) 130 (3) 140 (4) 125

The funetion f{x)=2x> +9x% +12x + 15 is decreasing on
G f(x)=2%° +9x% +12x+15 T EE IFWEA

1) 1L2) (2) [2, =) @) [-2-1] (4) (- 2]

18

dx
The value of jx T

dx
i

xyx® -1

N AA 8

(1) %Sec_l x+c (@) tan” x® +o

1 R (4) sec™ x+c¢

(3) Ftan

36
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120.

121.
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The value of j'f V2 -x? dx is

[* V2w wm #

1 @) -n kil @

(1} = @ -= (3) 3 ) Y

The area of bounded region between the line x = 2 and parabola y? = 8x is
I[1‘]. aq units  {2) % sq units  (3) % 8q units {4 g 8¢ units

myzsxmmxﬂﬁﬁﬂgwﬁﬁrﬁmﬁ
O Z w0 2 i @) 5o o CEEA

The degree of differential equation

_dy
v= Ax dy

1 not defineq

Yy, e
me:m&ﬂﬁﬁ{m)ﬁ
d.r v
(1o [~ ] T@ 2 ) o 3 3

P.T.0,
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122. The equation of curve passing through the point (1,1) of differential equation
xdy=(2x®+1)dx, x#0is

ﬁ%nn#wﬁmwﬂmmwwmmm
xdy =(2x° +1) dx, x#0 %7

(1) y=2x2+log|x|+¢ @) y=x°+log|x|

[3iy=x2+lﬂgx+c () %=x2+lug|xi

. d :
123. Solutions of differential equation -&x-!i +ysecx=tanxis

Hathel et %+yse¢x=t&nxﬁrﬁ%-

(1) y=secx+tanx+x+c (2) ysecx=secXx+tanx+¢

.‘«3'1 y=sccx-lanx+ X tc {4) y(secx+tanx}=secx+ianx—x+c

124. Standard deviation of first n natural numbers is

mﬁw@ﬁmmaﬁwmm(smww%

&
2 _1 n -1 n+l 4 n(n+1)(n+2)
B = (2) 1f > @ —- @ —

125. The variance of number of heads in two (OSSES of & coin is

@ﬁﬁﬁﬂﬂﬁmiﬁﬂ%ﬁ(?ﬁ}ﬁMaﬂmw%?

1 1
- — 4_ 1
(1) %‘ @ 3 | B 3 (%)

(17
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127,

128.

129,
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(Physics)

If G, cand hare I:ht:fl.mdamcntal constant, then the unit of time is expressed as
ﬂﬁG,caﬂthwﬁaﬂim%,?hderMﬁﬁEﬁaﬁmm%

1) J—’;’t 2 E @) (—%—] ) RGe?

Fa)

A projectile is thrown with an initial velocity ufﬁ=(p?+ g Jims™. If the range
of the projectile is double the maximum height reached by it, then

TF WY TR an U=(pi+qjims? @ S wmar ¥ ot v W v st
= W TR, at '

(1) p=2q (2) g=4p (8) g=2p 4 g=p

Three masses are connected as shown in the fBpare on a horizontal
frictionless surface and pulled by a force of 60 N. The tensions 1 1A T, are in
ratio : :

ﬁmmmm&a&mmmﬂﬁ@%aﬂtﬁaqm#mﬁm

m%ivﬁmﬁﬂmﬂw_ﬁﬁ,aﬁmmﬁm

60N
la kg.;ITI 12 kgg 15 kelZ.30°

(1) 1:1 [2} 1.:.1?, {3) 1:4 4) 4:5

The wave describet_:l by y=0.25 sin [Iﬂnx-if-rrj. where X and v are
and ¢ in seconds, is p.waye travelling along the

{1) —ive x direction with amplitude 98> m ana vavelength 4-=0.2 ¢

{2) ~-ive x direction ﬁm‘m 1 Hz

(3) +Hve x direction with freauency x Hz and 1 = 0.2 i'n

in metre

14) +ive x direction with FreqUeéncy 1 isg and LS Gepiy
N a 39

s

P.T0)
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130,

131.

132.

(7

§ 0.5 sin {10nx - 2xt), & X ¥ Y WU J ity ¢ gFvE § ap@ & 9 W
T §

(1) womeHd x fm @™ 0-25 m T IO’ A =0-2 m

(2) wwnars x fm # aMgf 1 Hz

(3) g x fewn @R @ Hz M A=0-2m

@) e x e # aigR 1 Hz A =0-2m

The coefficicnit of friction between rubber tyres and the roadway is 0-2. The
maximuim speed with which car can drive réund a curve of radius 18 m without

skidding (take g =10 m/sec’)
W A T Al GEE % ey wd ok 0-2 ¥ W 18 m Bew & 7% W fam
ﬁﬁéﬂﬁﬁﬂﬂﬁiég@'mi{eﬁﬁmgﬂommﬂ)

(1} 36:0 km ™" {2) 180 km nt' (3) 216 kmh™ (4 144 km ht
The ratio ol specific heat of a gas at constant pressurc to that at constant

volume is y. The change in internal energy of one mole of gas when volume
changes from V to 2V at constant pressure P is

ﬁmwmﬁﬂﬂmmﬂﬂmﬁmwwwaﬁtwmmﬂ:
Vﬁsz%,?ﬂlﬂﬁﬁﬁmm&mmiﬁﬁmzﬁpmqﬂaﬁ@ﬂ
RV

_F_ v 4
@ {y-1) 2 P @) (v -1} ) (y-1

The quantities of heat required to raise the temperatures of two copper spheres
of Tadit r, and 73 {ry,=1:371) through 1 K are in the ratio of

aﬁﬁamﬂsﬁ-'mﬁwrlamrz[rlﬂ.smmrarq | K 931 & fo vq&
T & I AW

(1) (%ﬂ (2) GT (3) (%] @ 1

40
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A hollow pipe of length 0-8 m is closed at one end. At its open end a 05 m fong
uniform string is vibrating in its second harmonic and it resonates with the
fundamental frequency of the string. If the tension in the wire is 50 N and the
speed of sound is 320 m{;n;_e, the mass of the string is

T 08 m W WY v R @ o ¥ g R R 05 m ¥ & Wt v
e vl Aftw & ol T8 gl @ W % A w1 oR aw d
50 N @91 =fa 1 320 m/scc @, A G W SRR B

(1) 5g ) 10g (3) 20 g (4] 40 g

It his the height of capillary rise and r be the radius of the capillary tube, then
which one of the following relations, will be._correct?

fl} hr = constant (2} h,f?“? = constani

|13) hr?* = constant (4) R/r = constant
ﬁhﬁmmWrﬁﬁmmﬁﬁwﬁ;mﬁm-iﬁmﬂ

(1) hr= P, (%) e = PRI () he? = BREIE @) yr o B

The level of w, IF 18 5 m high. A hgle of ares
the bottom of the tank. The fate of TER}
g =10 m/sec?)

| agie.olagea 10 cm? is made in
sakage of water from’ the hole ig {take

oF @t * ol W wm é-mz\‘m% u.m?%a 10 ¢m? %ﬂmﬁwm-&.
T T 1 R R wnieweeas g g (iR g 10 ™/gec?) e

(1) 1072 m® fsse ~l‘-’2ri*ﬂ="3-!nf’_@ (3) 107 % m® jgeg 4 IUSHIS,’sec

4]
P10}



17U/102/25 Set No. 1

136.

137.

(17)

Two metal wires of identical dimensions are connected in series, If o, and o, are
the conductivities of the metals respectively, the effective conductivity of the
combination is
‘ﬁmﬁﬂﬁtﬁﬂw%mmﬁﬁﬂﬁﬁﬁﬁﬁﬁlﬂﬁniﬂﬂﬂﬁgmﬂ#
AT B, @ W GENA w1 U giewan $9 w7

20,0,
(5, +C2)

W lorod (2% @ e @

Two plane mirrors M, and M, are arranged at right angles to each other as
shown in the figurcs below. A ray of light is incident on the horizontal mirror at

an angle §. For what value of 0 the ray emerges parallel to the incoming ray after

reflection [rum the wertical mirrar?
M, P f’ pard
X

N
M;

(1) 60° (2) 30° 3) 45° (4) All of them
A wEa | M W MzﬁﬁﬁW@RWﬁﬁ%aﬁaﬁﬁﬁﬁﬁ%Hﬁm
ﬁnm‘a?ﬁmaﬁwmutmﬁm.%la%ﬁmnﬂaﬁﬁmma&mﬁﬁ:hfm
sof Brm % wnr wlt ?

&l 2

M]'_/G
0

M
) 30° (3) 45° @) s wh

(1) 60°
42
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The power of a water pump is 2 kW. If g = 10 m/sec?, the amount of water it can
raise in one minute to a height of 10 m is

T 0T TR AT 2 kW R AR g-10m/sec? R, A @ 1 PR H 10 m
deord o R oW 33 o 27

(I} 2000 kitres  (2) 1000 litres (3} 100 litres (4] 1200 litres

A ring of radius R ¢srries a charge Q, unifermly distributed along its
circumierence. What is the ratio of the electric field strength at a distance R to

that at a distance R along the axis? ~ " ..,

V2

IR O ™ B R .90 598 fokw }i dge &v 5 dam e

R
eﬂiﬂmm%ﬁmﬁgﬂﬁﬁm—ﬁﬁﬁm.

7 33 3 22
ofs) el e(E w2

When a current of 2 A flows in E'ﬁﬁmﬁw@w peositive terminal, the
potential difference across it is 12 V. If a current of 3 A flowing in the opposite
direction produces a potential' difference of I8V, the em.f. of the battery is

@ 478 § 2 A6 %Hﬂmﬁﬁﬁmﬁﬁ‘tﬁiﬂﬂ,ﬂ?ﬁqam |
aﬁﬁiﬂ:ﬁam%’“&%ﬁm%ﬂ%
BT &, o ReR 15 VI A 2| 328 7 Rodo Ll |

(1) 126V 2Ll32v ﬂlﬁl 135V ) 140 ¥

43
' ' (P10,
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141.

142.

Fiﬁ? resistance each of 10 Q are connected as shown below. The equivalent
resistance between points X and Y is

ﬁn@ﬁﬁﬁﬁﬁﬁﬂﬂmmnwﬁﬁ%lﬁﬁ&ﬁXWY%ﬁigwuﬁﬂﬂ

10 Q2
X
100 & 100
100 $100
Yo
‘ , 25
(1) 204 (2) 542 (3) -—3—9 (4) 102

A plane clectromagnetic wave, E, = 100 cos (6% 105+ 4x) Vm™!, propagating in
a medium of dielectric constant is

s dga Faais meEd #} w HE TP T E, =100cns(6x105t+4x‘|‘\i’m'1
iR g

(1) 15 (2) 25 (3) 35 4) 40

143.

1)

An equilateral triangular loop is made up of wire of uniform resistance. A
current [ enters through one of the vertices of triangle and exists from other
vertices of the triangle of side @ as shown in figure below. The magnitude of

magneﬂc field at the centre of the equilateral triangle loop is

(4] zero
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A N
1) g—:ﬁ 2) %“f; e —3‘;% (4) I

144. A beam of natural light {alis on a system of 5 polaroids, which are arranged in
succession such that the pass axis of each polaroid is turned through 60° with
respect to the preceding one. The fmction of the incident light intensity thet
passes through the system is

sm%mﬁtﬁwﬁmmmﬁmta&qm%m@ﬁﬂfﬂaaﬁ
% NTRIEE 60° | WA Y ot AT R ¥ Bt ey e v & B

1 1 1 |
1) 0 5 @) = Mo
145. The power factor of the circuit as shown in the figure below jg
4 2w Ry F v W S iw '
El. = 4() Q2
(1) 02 l{i‘} Q4 _ 3 08 4 og

a7 45
" (RTo)
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146. An NPN transistor having a.c. current gain of 50 is to be used to make an
amplifier of power gain of 300, What will be the voltage gain of the amplifier?

'EENFNWWEH%&GW%ISDﬁGQUYﬁHﬁ?W%Wﬁ
w fe T 3 ofRaem w1 v 19 s @me

(1) 85 (2} 6 (3) 4 (4} 3

147. The following network of gates is equivalent to

fA B T W Yoad B e W g W Ay
A:&D—*
Y
B
) => = O =r- (8) — >o—

148. Calculate the equivalent capacitance between points A and B of the network for
each capacitor is 2 F

ﬂo—u——u}jTT}__‘[ ........

[,

I~
L

Bo—— -}

g 20+ @BIF @ CA-NF B EBHIR ) 2650

46
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_“-:ﬁ;'.!z # X -
{Hﬁmﬁmmmm)ﬂwﬁ'mm o

() 427 %1074 gor (2) 5x1079 g

(B) 2-5x10°3 gqp {4) 3:2x10-4

_ ¥ ratip of numbep of
BT = BEPE S T
: 47 h
(17)



s 1

to family
4y Ly thraceae

(1) Solanaccac
ot frg S # dat 37 |
(1) B (2) whE (3) T (@) o
152. Prrcentogs of vitamin A is higher in
(1) carrot (2} tomato (3) brinjel (4) onion
el T A £ wen e T 27
(1. | (2) = (3) FH (3) A
153. Etawah Filot Project Was gtarted in the yeall
v st SR frg e WY
(1) 1948 (2) 1950 {3) 1952 (4) 1960
154. mwgratcd Rural Dcvelnpmcnt Programme (IRDF} was taunched in the year
qqﬁaﬁ T T A {ﬂlﬁoaﬂtuﬁoﬁn} fFa a IF E{?
(1) 1970 (2) 19735 (3) 1978 {4) 1980
48

{17)
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Wﬁw,m,m%eﬁqﬁmi?

|1y Bio wWe TWo TN 2) afo W A fE

@) Fo Ho TWo T () o we o T

160. Regional Rural Bank in India was established in the yeal

@ § aé’mm:ﬂwﬁﬁﬁaaﬁmﬂﬁﬁmrfm

(1} 1970 (2y 1975 (3) 1980 (4) 1985

161. Which onc of the following crops is guitable for light soils?

(2) Wheat (3} Maize (4) Rice
ﬁqﬁ%ﬂﬁﬁﬁ##ﬁmﬁﬁﬁ%ﬂm%?
(1) g @ ¥ (3) T (4 wES

162. Which one of the foliowing ¢rops is pot a pulse crOP in India?

(2 Qoyaboatl (3} 'Rﬂ.]m&ﬂh H"l. Fea

Wﬁﬁﬂ?-ﬁmmimﬁmaﬁ%?

(2) WA (3) Tt (&) W&
{ the following States .s the largest rice producer?
(2) West Bengal
(4) Uttar Pradesh
ﬁqﬁ@ﬂﬁ%aﬁﬂ-ﬂlnﬂmmﬁﬁﬂﬂﬂmm%?

[y T a3 FHFIEN (@) T T

163. Wwhich one ©
(1) (Qdisha
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Reegarch is located gt
(1) Kanpur (2). Jaipyr (3) Nagpyr (4) New Delh
HoFodoTo B wnely ey TR Teary et | 5
(1) Fg Gwg 5 g ) %
156. Which of the following States CLuﬁvaife rice in Rabj Season algyn
(1} Odishg (2} Punjap (3) Mp (4) Up
ﬁqﬁq&aﬁﬁaﬂq-ﬁmmlﬂmﬁﬁﬂﬁﬁ@iﬁm%?
{1) ey (?) Yo (3) weqww (4) W gy
157. Open pollination tgjceq place in
(1) paddy (2) maize (3) wheat (4} peq
¥ v -9 gy 27
(1) = (2} g, {2 T (4) T
158. Which one of the following cropy s AmpRITSIay
(1} paddy 2) maize - (3) wheat (4) peg
Rafafs § 3 LU —. BT §7
(1) w= (2) mwr L 18) [4) Wy
159, ;[‘h;u ;1]::-8:;:111 Vicé-chanoeuof ,D{ .thc Centray Ag:icultprgl- Ul-'li?c,rsjty' Imphgt
{1) Dr, M. 8, §“.?g;1‘i_t;q,;p,anw (2) Dr_,_.w Singh
3) Dr. V. L. Chopra 4 Dr. M. p Singh
17) | 49

P10,
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164, Phosphorus ia present in DAP in the form of

(1) phosphate (2} phosphoric acid

(3} phosphaide (4} All of these
ﬁoqaﬁnﬁﬁmﬁmmﬁwmmt?

(1) wivhe (2) ¥R uftre  (3) S (4) I7re mh

165. Early blight of potato is caused by

(1) fung (2) bacteria - {3} virus ., i-... {4) nematode
mﬁﬂﬁm{mw)%ﬂ%mﬁm%?

(1) =43 (2) ey ®) frmy - 14) Pl

166. Maiformation discase is common in.

(1) banana (2) mango (3) guava (4} coconut
R (memwtitam) o Bl st o ] 87
{1) Fer {2) am (3). 3, {4) i

167. Molecular breeding hciya Pplant hmedcrq n. ..

(1) unpru'-r::ment 111 & popular vancty
...... eepatn
(2] developing cump]el:el}r a ncw variety

(3) developing transgeriey=
(4) None of thess

(17) vl
(P.T0)
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WW{WW)WWﬂMWWWP
() drel frelt & g d () fega # Rew =M ?
(3) grEmbE T A (@) ¥ & #¢ T

168. Khaira diseage in rice 1s caused by

(1) bacteria (2) zinc deficiency
(3) boron deficiency (4) fungus

am & du am fr o fa &7

(1) ey @ | ) fm R w0 F
(3) A H F= @) 5@

169, Alternaria blight in mustard is caused by
(1] hacteria (2) virus (3) fungus (@) nematode

mﬁﬁuﬂaﬁmﬁ{mﬁﬁ}mmﬁm%?
(1) <harg B (2) oy & 3) v 4 [41{?1%'5%
170. Food prepared by teaves are transported to all parts of the plant by

(1) xylem (2) phloem (3) parenchyma {4) phellogen
ﬁwwmﬂﬁﬁmﬂmﬂtwaﬁiﬁﬁ%qﬁﬁ?

(1) G (sgEd) (2) T T
(4) @A T

52

(3) Y T

an



171.

172.

173,

174,

(27)
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Which one of the following.is responsible for ripening of ‘the fruits?

{1) Ethylene  (2) Ethanol -
(3) Acetic acid (4) Gibberellic acid
Reiren 3 § P wron wr v 7
1) ¥RRw g (2) T
(3) dfew e g ) froftme qE g
Golden rice is known for
(1) high vitamin A | (2} high protein
(3) high calcium (4} high zinc
T T (e e o By o
(1} e R A & forg (2) i re-in R
(3) i Howw & fa (4) i R & R
Mallika is a variety of | “
(1] apple  42) mango 43}'. Behi . () papaya
o R v |
(1) ¥= (2) am § ;3;sn§nﬁ 4) W R
If a gene from fish introduced intp Hoe, then this rice plant wij] be known ag
(1) mutant plase - 43) hybsid plant
(3) double haploid plant = _ {ﬂ trapsaanie plant
53

P.T.0)
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175.

176.

177.

7

ﬁm%ﬁ%ﬁﬂﬁ?ﬁﬂﬁsﬁqmﬁmm,zﬂaﬁmmﬁmwm?
(1) Sraiafda dre (2) " e

(3) st Rwrws dh (4) TR dre

Crop belongs to Brassica junced is

{1} wheat (2) rice (3) mustard (4) yellow Sarson
D-dt waa R I F ol A 87
(1) 1 (2] W (3] W (4) et Tt

Which one of the following Indian Scientists was the Director General of
‘International Rice Research Institute’, Philippines?

(1) Dr. B. P. Pal {2]. Dr. M. 8. Swaminathan

(3) Dr. R. 8. Paroda (4) Dr. R. B. Singh

S § @ A el Aafe g e g g, Bt
TEieT® 47

(1) Sie de fie W= (2) Efo WHo wHe WHHTA

(3) To AR TWo TSI (4) o o FHo TR

Mutation is generally
(1) recessive and harmful (2) dominant and harmiul

(3) dominant and useful (4) recessive and useful

o4



178.

179,

180.

(17)
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mﬁaﬁqm:%mﬁHT%?

(1) Rl T e {2) Wl qur JEETRE
(3) St o It (4) STt T o
Who is regarded as father of hybrid tice?

(1} G. J. Mendel (2) Yua.n Longping
(3) R. H. Richharia @) G. 8. Khush
FH HH GH H o G0 I 27

(1} o Ho Aw (2) T3 i

(3] M Wo Rurfr T (4) e “we

Which one of the following. is known as Powerhouse of the celjp
(1) Chromosome (2} Mitochondria (3) Ribosomes (4) Ch]omplagt

mﬁﬂmﬁﬁmmmm%?

(1) TR (i) - @), BN, m@w@n
3) m‘rém (4) TR

Which cmé of the following is us;cd as biofertilizer?

(1) Rhizobium culture =~ (2) Trictioderma

(3) Azola (4) Adk of-tiveas.
ﬁwﬁr&aﬁﬁﬁﬁﬁ@m%mﬁmmy

(1) T o= (2) gretent

(3) e | 14) IO |

55
" P.T.0,)
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181. Uracil 1s present in

(1) RNA (2) DNA (3) Both (4) None of these
Uit fred arn w27
(1) FARTHOTo (2) SrouFoto (3) gl (4) T § @ T

182. Browning symptoms in cauliflower is due to deficiency of

(I) boron (2} iron (3} zinc (4) molybdenum
Wﬁﬁwaﬁw%ﬁﬁﬂﬁﬁm%?
(1) == (2) @& (3) Fm (4] ST

183. ‘PGPR’ is concerned with
(1) beneficial bacteria in plants (2) harmful bacteria in plants

13 beneficial fungus In plants (4) harmful fungus in plants

“Boftafiostio’ Rrad Tl TEa@ 7
(nd’ﬂﬁﬁammaﬁam () drei # JEEEeE wHary
@) fdl § AR Fed @) el § AR TR

Which one of the following can be grown suitably as an intercrop with wheat?

{1) Sugarcan¢ (2) Pigeon pea (3) Potato
ﬁm’hﬁﬂﬂﬁﬁﬂﬂ*{ﬁ:maﬁmﬁa ) & w0 § W W w0

(1)

184.
{4) Mustard

(2) ST (2) el (4| ™

56
{17)
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186.

187,

188.
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The Indian Agricultural Research Institute is located at

(1) New Delhi (2) Hyderabad (3) Bengaluru (4) Lucknow
et B s dwm w47

(1) 7 fgft & (2) et # (3) smers (4) FEE d

Grasshopper belongs to Order -

(1) Lepidopiera  (2) Orthoptera  (3) Isoptera (4) Blattodes
R fou st m M 27 -

(1} Sy (2) AR - {oy ompdrte—— - yvy-askRly

‘SRI’ is a method of

(1) paddy cultivation (2} rapeseed cultivation
[3) wheat cultivation (4) sugarcane cultivation
A R AR 2 | |

ﬁphid i1$ a major problem of

(1) wheat TZrRsre—.  (3) pea {4 barley

TR (W) o v ¥ o v w47

(1) % (2 B I (3) )
.

fPT.0,



17U/102/25 Set No. 1

189.

190.

191.

192.

Triticumn aestivum is the botanical name of

{1} paddy (2) maize (3) wheat (4} jowar
Phwn oRaw fraw arefie T /7
(1) & (2) W (3) Y (4) SR

Neelam and Dasheri are the parents of varieties

(1) Mallika and Amrapali (2) Maliika and Langra
{3) Langra and Alphonso (4) Amrapali and Langra
o i T o & P Pt & n-fe &

(1) g @ ST @) R @ wE

(3) WME T HeThH (@) HETRT G <

Ashirwad is the variety of

(1) tmustard {2] sesame (3} linseed (4) groundnut
saftate R s @ fE R
(1) 7% (2) f= (3) e (4) T

Which crop is being used as green manuring?
(1) Sugarcanc (2) Sesbania (3) Rice (%) Maize
ﬂwwzﬁ@m%mmﬁma?

(1) ™ {2y F (3) W (4) T

58
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194‘

195,

1 %ﬂ

197,

(17)

17U/102/25 Set No. 1

Which of the micronutrient is most useful for enhancing oil content in mustard?

(1) Zinc - (2) Sulphur (3) Iron (4) Boron
ﬁHﬁMﬁ#aﬁq—mﬁWMﬁﬁaﬁwaﬁﬁﬁm%?
(1) fo (2) T (3) v (4) ¥

How much pemcnta;gc of protein is available in wheat graing?

W & oot g B s o o &7

(1} 9 to 13 (2) 15 to 20 (3) 22 to 25 (4} 28 w0 30

Which one of the following crops Kélps in fixing amospheric nitrogen into soils?

(1} Maize (2) Rice (3) Rajmash (4) Sugarcane
ﬁﬁ%ﬁqﬂﬁﬂ?ﬁﬁﬂmwﬁmwﬁm%?
(1} w 2) 9|E (3) xromr. (4, T

For reclamation of alkaline soil we use |
(1) gypsum (2) lime

(3) urea (4) mirate of potash
T T GO G W e i a7 o
(1) foromm (2) T (3) Ffam (4) T 37 Gy
Range of correlation coefficient (r) is
(1} - to 4+ (2] -1 10 +1 (3) 0l 1 | {(4) 1t 2
| .

(P.T.0)
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ler]aﬁtﬁw%?
(1) —» 8 +w @ -18 +1 (3) 0 A 1 4 1% 2

198. ‘Pusa Napha’ is a variety of which fruit?
(1) mango {2) papaya (3) guava (4) coconut
‘g ARy TR e L SR R '
(1) ¥ (2) T (3) I (4} e

199. 1f number of treatments are 16, then what will be the treatment degree of

fiocdomn?

I feRe i FEn 16%,&%%&%%@1%?
) 13 (2) 14 (3) 15 (4) 18

200. Bmasculation in paddy is preferably done in

(1) night (2} noon (3) morning {4) afterncon

o B gige F1 3R WA 27

(1) T (2) AR (3) HE (4) QTR ]
&« ok w

60 D/7(17-21000
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14.
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